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HEfetad 4e1l 1 sigd qrae] | 9igy 7R 371 %] § Yo HIISTT
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(ii)
(ii1)

TG YT-GAH 38T 2 | Gt Jv7 AT & |
g Y997 Qi @V | [A91fSid & — ok, @, T, 9T & |

QUE & 4 Y9 41 1 9 18 % sglascyd (MCQ) T I3 G 19 TG 20 3(4eha Td
e STETRA 1 HFF T3 |

(iv) @WUEE H J¥ G& 21 G 25 TF 37fd T-3THF (VSA) TFR & 2 371 % T 3 |
(v) @YU TH Y G126 € 31 G -3 (SA) TR & 3 3l % T 2 |
(vi) TUSHH Y G 32 F 35 dah 153009 (LA) JFR & 5 3l F I3 8 |
(vii) TWUE T G Y99 G&IT 36 G 38 dF KU 37eqq HTTRA 4 3Hhl & 94 & | i TR
37T G STARF faheq 2 37l & T 4 fear mar 2 |
(viii) 99-97 9 GHY faheq a1 [Ga1 71 8 | JeIfd, @S @ & 2 Y91 §, @US 1% 2 Yol 4, @U8 §
F 2 Y1 4 991 @UE € % 3 Y31 § AR aeheq o1 a7 AT T/ & |
(ix) T8l STTEAVIF &l o8 TFHIGT S5 | &l E9TF &l 10 = ? fsre, afe s1=rer 7 faam
TS |
(x)  FFel F IGF FTAAE |
LCLE:
59 @S H 20 FElaFe1d 5 (MCQ) B, 58 e 397 1 37 #1 3 | 20x1=20
1. U o U SqI o &6 b 36 o o &bl § ST § :
A 2:1 B 1:2
(C) 1:4 D) 4:1
2. T i ISTEehl S e o e o 7, St Bsan & Steiel W e nifia © | et 3

(A)  mrh + nr2

B) arhZ+r2 +nr?
(C) nr\/m + 2mr2
(D) nr\/m + 3nr?
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

(iv) In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each case
study.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

(ix) Draw neat diagrams wherever required. Take 1t = o wherever required, if not

stated.
(x) Use of calculator is not allowed.

SECTION A

This section has 20 Multiple Choice Questions (MCQs) carrying 1 mark each. 20x1=20

1. The ratio of the area of a quadrant of a circle to the area of a circle is :
A 2:1 B) 1:2
(C) 1:4 D) 4:1
2. A cone of height ‘h’ and radius ‘r’ is surmounted on a hemisphere of same

radius. The total surface area of the entire solid will be :

(A) mrh + nr2

(B) nr«/hZ +12 +mr?
(C) nr«/hz +12 + 2nr?2
(D) nr«/hZ +12 + 3nr?
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TEF T

TAF <+ 1-T0 oy
© of | — fo — £y
Hf) SMAT R :

(A) g o hT SR

(B) w8 a7 ¥ 31k Uac aTel ol shl STRETRAT

(C) =8 a7l o 31h o1& H 3T ATt o] ohl STRAT
(D) g o1 ol Gerll ST

fopelt sfe o foTu, Afe WTe = WTeaeh = a 8, Al 34 S ol Iga & -

(A) 3a B) 2a
(C) a D) 0

< I %1 Tk ETF ekl TR S RO ShT el ST §
(A) 6 B) 18
(C) 36 (D) 216

3 et 3 3R 5 o fog, (HCF — LCM) FT AR &

A) 2 B) 4
C) 14 (D) -14

foret ITehd TEAT n % fIw, AfS T al e ik a T GuT 2l §, a1 ‘a’ 1 a7
8

A 2 (B)

(C) 6 (D)

g @ x =a, x=b (a = b) F &Al I TEATE :

A 0 B) 1
C) 2 (D) A

‘p’ 1 T A Foteh T px? + 4x + p = 0 % 7 AT ST TR G, & -

A 4 B -4
C 2 (D) 0
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In the formula of mode given by mode =/ +

f; denotes the :

(A) frequency of the modal class

(B)  frequency of class preceding modal class
(C) frequency of class succeeding modal class

(D) cumulative frequency of modal class

For a distribution, if mean = median = a, then its mode is :
(A) 3a (B) 2a
(C) a D) 0

The total number of outcomes in the experiment of simultaneous throw of

three dice is :
(A) 6 (B) 18
(C) 36 (D) 216

The value of (HCF — LCM) for the two numbers 3 and 5 is :
(A 2 B) 4
C 14 (Db -14

If the number a®, where n is a natural number, always ends with digit a,
then the possible value of ‘a’is :

A 2 (B)
(C) 6 (D)

The number of solutions of the system of equations x=a,x=b(a=b)is:
A 0 B 1
) 2 (D) Infinite

One of the values of p’ for which px? + 4x + p = 0 has real and equal
roots is :

A 4 B -4
© 2 (D) 0
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10. frfefaa geteron g 9 w-ar feumg g 2 2

(A  x2=(x+1)>2 B) x-1DE+2)=2x+1
C) (x+283=2xx2-1) D) Jx=x2
11.  qo-fagafag (2, 3)hglie:
A 2 B) 3
C) 5 D) 13
12. ﬁ?g’aﬁ(l, 3)@(1,-3)@%@%?@@3%%@@&%%:
A)  HA-frgw (B) gEU=quiwd
(C) x-3IAAW D) y-JATW

13. @7 B H, I} DE || BC,AD =15 cm, DB =3 cm ¥INEC =2 cm 8, @
ACH TETER :

(A) 15cm (B) 3cm

(C) 3-5 cm (D) 45cm
14. 31 Hohfsd Il §, BIC I ohl TIRIET o I ol AT & :

A) T B) THEREW

(C)  arfeigarw (D) i feigani ™
15. 2tan2€50"" _FHHER

1 — tan“ 60°

A -3 (B) 3

1
¢ -—-= D) -4/3
(C) 5 (D) J3
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10. Which of the following equations is a quadratic equation ?
(A)  x2=(x+1)2 B) -1)EE+2)=2x+1
C) x+23=2xx2-1) D) Jx=x2
11. The distance of the point (2, 3) from the origin is :
A 2 B) 3
© 5 D) 13
12. The mid-point of the line segment joining points (1, 3) and (1, — 3) lies :
(A) at the origin (B)  in the second quadrant
(C) on x-axis (D) on y-axis
13. In the given figure, if DE || BC, AD=15 cm, DB = 3 cm and EC = 2 cm,
the length of AC is :
(A) 15cm (B) 3cm
(C) 35cm (D) 45cm
14. In two concentric circles, a tangent to the smaller circle will intersect the
larger circle at :
(A)  zero point (B) one point
(C) two points (D) three points
15. The value of 12_1::1115 (6)0 is:
A -3 B) 3
© - % D -8
430/2/3 # 7| Page ) P.T.O.



16. (sec 0 —cos 0)2 +sin20 —tan20 =?

A O B 1
© 2 (D) 4
17. o & 13144 30° § 60° H S & Al T HIA 3h1 ST 6l walTs
(A) BB (B) sl
(C) T (D) gt S

18. <1 7TE ITTRfd H, SrIifera Wi fefud shtar @ -

.

|

g

A) Y BeaEs (B) & Breads
(C) HIES (D) dHIaEs

I &I 19 IR 20 31f4HyT U5 de i 997 & | 3 e fov 7w & 599 wF &)
STIHT (A) A1 A %1 T (R) SRT Hfehd Tob21 711 € | 39 Y91 & Hell I A1 19T 71 Fls]
(A), (B), (C) 3R (D) & & g7 FIforq |

(A) AP (A) 3R ek (R) ST T2 & AR ek (R), ANTRIT (A) il el T

FATE |

(B)  fueRe (A) 3R @ (R) aF1 W&l €, Wq b (R), 3ABTRIT (A) T wel
ST 7T FAT 8 |

(C) M (A) W&l 8, 0] doh (R) T € |

(D) AT (A) T &, T deh (R) @81 8 |

19. 3799 (A)

a& (R) :

20. 37fYFYT (A) :
% (R) :

36 ol foraTfSrd st STt 3T9TsT T&ATE 6 Rt oft forforg sredt 21

FIs T Afg p2 o favrisra st 8, at a8 p 1 oft fenfora shet
gl

avft gatmem e, ared By S §
Fartes st o, €T Sl 1 S 1: 1 Sare |
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16. (sec 0 —cos 0)? +sin20 —tan20 =?
A O (B)
< 2 D) 4

17. The length of the shadow of a tower when the sun’s altitude changes from

30° to 60° will :
(A)  become shorter (B)  become longer
(C) remain same (D) be doubled

18. In the given figure, the shaded region represents :

=)
(A) minor sector (B)  major sector
(C) minor segment (D) major segment

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The prime numbers which divide 36 also divide 6.
Reason (R):  Any number which divides p? also divides p.

20. Assertion (A) : All congruent triangles are similar.

Reason (R): In congruent triangles, the ratio of corresponding sides is
1:1.
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Qs g

39 @US § 5 37fd TY-3709 (VSA) TR % F¥ 8, 194 Ti% & 2 31 8 | 5x2=10

21. (F) T &S I0 & HoI@vs, NERT FE™ HI0 120° 7, T &A% Th SIE I 6
AAhE % S § | BIS I 3R o I hil Freamd shwen: ¥ MR E| r: R
J1a hifsre |

ST
@ ATEARME B 7 ecm FITHFHZ 0T | AB, I0 6l T ST # |
BIATfeRd 9T T IRHTT J1d HIST |

22. (%) AW F1d hifo foreer forg Frferfiad Yiaes wftertor 3w o st 9 9
ITHTA®R
cx+3y=c—3

12x +cy =c
HAAT

(@) x ANy & fw e il ;
3x + 2y = 65
2x + 3y = 60

23. PrYst ABC T 9T BC W U feig D 39 s fiord € 6 2 ADC = £ BAC. fog
Ifs o (CA)? = CB . CD.
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SECTION B

This section has 5 Very Short Answer (VSA) type questions carrying 2 marks
each. 5x2=10

21. (a) The area of a smaller circle is equal to the area of a sector of a
larger circle with central angle 120°. The radii of the smaller and

larger circles are ‘r’ and ‘R’ respectively. Find r : R.
OR

(b)  In the given figure, O is the centre of a circle of radius 7 cm. AB is
a chord of the circle. Find the perimeter of the shaded region.

22. (a) Find the value of ¢ for which the following pair of linear equations

has infinitely many solutions :

cx+3y=c—3
12x +cy=c
OR
(b)  Solve forxand y:
3x + 2y = 65
2x + 3y = 60

23. D is a point on side BC of A ABC such that £ ADC = £ BAC. Prove that
(CA)?2=CB. CD.
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24. 91 7E HTHId H, TF I o 9H0Td st ABC ST | IfE AR = 3 em, BP = 4 cm 91
QC =5 cm &, a1 Foyst ABC %1 9RHTT T shITSTT |

B}m
R
5(3111\‘
B(— 4 cm —sP C
25. UM JTd Fifere ;
sin2 45°
cosec2 30° — tan? 45°
©ugs T
59 GUE H 6 -3 (SA) TFR & ¥4 &, IS0 Jed% % 3 HF 8 | 6x3=18

26. THTRaa BTt gedisht = g IS ;

cos A —2cos3 A
2sin3 A —sin A
27.  HAN (chance) % U W H, Tk Ufed ! YHIET SITAT 8, S faemd § A & a1Q
e 1, 2, 3, ..., 10 (& T aTrHiq # fiwm sEw) § 9 fred v e e
FATE |

&Y

gfe gt aform gauTRies €, 91 SHehl T TTfRiehdT @ for I ufea
G) 29T AT G i S0d AT 2

(i) 9B fowd T =t g s 2

(iii) 4 % OIS I ST BT 2
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24. In the given figure, A ABC circumscribes a circle. If AR =3 cm,
BP =4 cm and QC = 5 cm, find the perimeter of A ABC.

5cm

B(—4cm—>P C

25. Evaluate:

sin? 45°
cosecZ 30° — tan? 45°

SECTION C

This section has 6 Short Answer (SA) type questions carrying 3 marks each. 6x3=18

26. Prove the following trigonometric identity :

cos A —2cos3 A

- : =cot A
2sin3 A —sin A

27. A game of chance consists of spinning a wheel which comes to rest at one
of the numbers from 1 to 10 (as shown in the given figure) with equal
probabilities.

A

What is the probability that the wheel stops at
(1) a prime number greater than 2 ?

(ii))  an odd number less than 9 ?

(iii)) a multiple of 4 ?
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28. (%) RmHfels 5 o smicmgen?|
3T
@) S AT SR T fAfgy SR g6 S 9, 36 N 54 F A
(LCM) 31d hifer |

29.  WETE q(x) = 6x% — 5x — 1 % Y[ FId =hITSIT N q(x) % Tl AT 8ok UTiehi
off=r Heer 1 FeTTud shifeTg |

30. () MHfIRad (Raeh ST I I AT SR & HITSTT :
2x —y=2 HR 4x-y=4
5 TR @ Teiud e, y-srer st TS feigatl W afresfed et €, 59
feigat o fcwrish oft feffaw |
AYAT

@) Tshohe I YeM o aTefl Ueh SAshieHt 3 10 sot 311 5 7ie, ¥ 32,500 H
Tl | 1€ 1, AFIEHT 7 2 dodd 3R 8 7, £ 10,000 H GT | I Seet 3T I
61 hTHd | IS TgATe Fe] ST &, a1 1 seed I 1 718 shl e J1d HIf |

31. s I H, TP 3 TQ, 91 % forgait P 3t Q w shwer. i md # | afe wfererelf
2 POQ = 250° &, Al =Iq4st POQT o Tcdsh shivl hl HIY JTd IS |
T
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28. (a) Prove that x/g 1S an irrational number.
OR

(b) State the “Fundamental Theorem of Arithmetic” and use it to find
LCM of 36 and 54.

29. Find the zeroes of the polynomial q(x) = 6x2 — 5x — 1 and verify the

relationship between the zeroes of q(x) and its coefficients.

30. (a) Solve graphically the following pair of linear equations :
2x—y=2 and 4x—-y=4
Also, write the coordinates of the points where the lines
represented by these equations cut the y-axis.
OR

(b)  An academy offering cricket coaching bought 10 bats and 5 balls
for T 32,500. Later, the academy bought 2 bats and 8 balls for

% 10,000. If there is no change in the cost of the bat and of the ball,
find the cost of 1 bat and 1 ball.

31. In the given figure, TP and TQ are tangents at points P and Q of the
circle respectively. If reflex ~ POQ = 250°, find the measure of each angle

of quadrilateral POQT.
T

p
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Qs Yy

3G GUE H 4 193RI (LA) TFR F 98, (S8 Ik & 5 3F 2 |

4x5=20

32. (%) Uk WY I 40 gl H deagai Ferean fucfidier & ardt st € qor aw
3ATeRgl ot FHfTRad gt o &9 § fasfuq ferm Smar e
100 — 120 8
120 — 140 9
140 — 160 12
160 — 180 5
180 — 200 6
gfxrt it AT TS (mm H) F1d I |
ITAT
(@)  Teh HET ST o AT Hell o 30 fererefa =i srquitarfa Frfcrfaa & 7
f&hiE (Record) 1 |
ol ) Gear 0-414-8|8-12|12-16(16-20(20-24
Squfeyd faerfofal #raemn| 1 | 8 x 6 5 y
fe weh ferameff <t sTafeert i #Ted WA 12 8, 0 x 3R y o 7 14 i |
33. (%) T A & ARl HT ANTHA 2650 cm?2 B | A IHF GNATIT T INTHSA
280 cm &, T faQ Qa1 3t <hl [Tl 1 SHiFSIT |
37T
@)  gHiR 11 =3, (x # 0, 2) T Uk fgoTd GHIHT & AH ®9 H =<k
X X —
SIS | 37df:, 38 ST STH EU fSEma Sefishon & 7el J1d hifsT |
34.  “IATERA GHIATARAT o feARa 31 fog hifo |
85. Uk MIATRR ohid oh s shl Ueh SAFTeRT e & TSTHeh! dFITE 7 cm & 3T 9 2 cm
& STelfeh TR T 31 ST 14 cm & | 39 SR hidl o s o GTHGT J1d HITT |
(n = 27—2 SRIAT SAITSTT)
430/2/3 # 16| Page e




This section has 4 Long Answer (LA) type questions carrying 5 marks each.

SECTION D

32. (a) The lengths of 40 leaves of a plant are measured, correct to the
nearest millimetre and data obtained is represented in the
following table :

Length in (mm) Number of leaves
100 — 120 8
120 — 140 9
140 — 160 12
160 — 180 5
180 — 200 6
Find the median length (in mm) of the leaves.
OR
(b) A class teacher has the following absentees record of 30 students of
a class.
Numberofdays | 0-4 | 4-8 | 8-12 | 12-16 | 16 -20 | 20-24
Number of
Absent students 1 8 X 6 5
If the mean number of days a student was absent is 12, find the
values of x and y.
33. (a) The sum of areas of two squares is 2650 cm?. If the sum of their
perimeters is 280 cm, find the sides of the two given squares.
OR
(b)  Express the equation 11 =3, (x # 0, 2) as a quadratic
X X-—
equation in standard form. Hence, find the roots of the quadratic
equation so obtained.

34. State and prove “Basic Proportionality Theorem.”

35. A spherical glass vessel has a cylindrical neck which is 7 cm long and
2 cm in diameter. The diameter of the spherical part is 14 cm. Find the
capacity of the entire glass vessel. (Use n = 27—2 )

430/2/3 # 17| Page ) P.T.O.
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LCLCaCY

T GUE § 3 U 37e7 3R G978, [SHH JdF F 4 3F 3 | 3x4=12

Th{UT 37T - 1

36. UH HSH AN & | T AATHR HeH ABCD & =RI sl & fHg3ria A(10, 10),
B(40, 10), C(40, 50) 3R D(x, y) & | 3 G AT 3R AT 4 Th IS T
et o | @1 3 foig A 9 <ieT & foram 3t 58 forg E o1 311, forerol AC I
feem &, =1t o, SeT E, ABCD  gHi faehull 1 Sidwee formg @ | fog B 0T ug=em,
=7 forg B ol S, forekol DB ki femm o Sirell € 31N forg B 9t ug= U =€ BA i fesm
4 ST foirg A W 9199 3Tt @ | (e foig C & 3w ek, D | Bid 8T foig A 7o

e AT |
D (x,y) C (40, 50)
~r L X
E
-~ » r X
Q
B A (10, 10) B (40, 10)

SRR SRR o HATIR 9, TR S o 3T AT :

(i)  Tig E % Rz g A | 1

(i)  feigetl B 31 C o sfter st gl 91 hifsC | 1

(i) (/)  Toig D o fAdwries AR BD I A | 2
HYAT

(@) AT R qE 6 7S Fel g 1 A | 2
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SECTION E

This section has 3 case study based questions carrying 4 marks each. 3x4=12

Case Study -1

36. A field is in the form of a rectangle. The coordinates of the rectangular
field ABCD are A(10, 10), B(40, 10), C(40, 50) and D(x, y). Anil and Anita,
two friends decided to have a race. Anita started from point A and moved
to point E along the diagonal AC, where E is the point of intersection of
both the diagonals of ABCD. From point E, she moved to point B along
the other diagonal DB and then moved back to point A along BA. While
Anil started from point C and ran to point A via D along the boundary of
the field.

D (x, y) X C (40, 50)

-~ M ¥

e A (10, 10) B (40, 10)

Based on the above information, answer the following questions :
(1) Find the coordinates of point E. 1

(i1)  Find the distance between the points B and C.

(iii) (a) Find the coordinates of point D and the distance BD. 2
OR
(b) Find the total distance travelled by Anita. 2
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37.

ThI0T 3TETYT - 2

T Scld TR H Uk A AIER & ST Heht Hehifd o SR AT ST § | I8 <8R
AN T 379 Sl & YdT ISR JAET ST & | TH7 3R e oft N8R o1 34 o o
T 7T 33T % & | AT 3h ot 26T 5T, el § 60 m FoR & | 9T | ST SR SAEARA
&Y U et 0 e fefg @ ofell Bielt 2, SR el % | SR i 30° 8 | U 10 m
Sefl U O YT 32T TET © | 3Teh! U off el ¥ 60 m T 3 W & 3 W g
SEAUTC ol TS SR shT TTFelTg {41 shT SR o THIA € | 0, el o Teh foleg & Tfel shi Weftr =T
AT R |

Happy

&
1 .
af?E_‘;» Makar Sankranti
VN

SRR ST o HATIR 9, FTARad St o 3T AT :
G) 4T ST EAHTA R dTedl SR Rl RIS FTd shifSTT |

(ii)  sin O T A J1d HIfST |

(Gii) (%) Ife S awrE A foredt gftad & T, 0 A1 60° H oeaT ST &, ot

Tl @ Tfer <l IaT Sl Srers M B 2 (/3 =17 T i)
HYAT

(@) A SR 1 Fohre Gxdl o W1 30° €, ol el shl T ohl et | it
feraft BRTY, 718 AT U for SR o1 @aTTs e seerd! & 2
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Case Study -2

37. Kite festival is a popular festival in India which takes place during
Makar Sankranti. The festival is celebrated by people flying kites from
their rooftops. Reena and Ravi are also flying kites to enjoy the festival.
The height of Reena’s kite is 60 m above the ground. The string attached
to the kite is temporarily tied to a point on the ground, and the
inclination of the string with the ground is 30°. Ravi is flying a kite from
a 10 m high building. His kite is also flying 60 m above the ground and
the length of the string used by Ravi is same as that of Reena’s. 0 is the
angle of elevation of Ravi’s kite from a point on the rooftop.

Happy

‘1\‘ Makar Sankranti

3 g

Based on the above information, answer the following questions :
(i) Find the length of string used by Reena. 1
(ii))  Find the value of sin 6. 1

(iii) (a) If 6 changes to 60°, without changing the length of the
string, what will be the height of Ravi’s kite above the

ground ? (Use J3=17) 2
OR

(b)  What would have been the height of Ravi’s kite above the
ground, if the string had an inclination of 30° with the
ground, assuming that the length of the string does not
change ? 2
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38. U HigdAT 4 AU & ¥ T 10,00,000 3UR AU 3 77t &4 @ wiferes foeat o
YT [T §AT 9T AT9E ST ohT SITaT (T | Tk HEH 92iTd, 389 10,000 99 T,
I TEH 30 T 15,000 a9d fopw, e A & 389 20,000 19 TR o gt
TE Yo e ol fohed § T8 &9 8 g id g¢ 198 Ll & |

SRIF SIHFRT o STUR W, FHHfRad ST o I IR :

(1)  THe HEM W YT 26T TS T 26T TIRT 1 shifry |

(i)  IH-ET fored W 38 Z 40,000 T WA fohaT o7 2

o oo NN

(iii) (%)  Torat foredl © 38 %cT % 11,50,000 T YTH foham & 2

HAAT

(@)  forat foredt ek, 918 el % 3,25,000 i TRT <hT WA T AT off 2
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Case Study -3

38. A woman borrowed ¥ 10,00,000 from her friend and promised to return
the borrowed money in monthly instalments beginning from the next
month. After one month, she returned ¥ 10,000, the next month she
returned ¥ 15,000, the third month she returned ¥ 20,000 and so on,

thereby increasing the monthly instalment uniformly.

Based on the above information, answer the following questions :

(1) Find the amount of instalment paid in the tenth month.
(i1))  In which instalment did she pay % 40,000 ?

(111) (a) If she returned ¥ 11,50,000 in all, how many instalments did
she pay ?
OR

(b) By which instalment has she returned a total amount of

¥ 3,25,000 ?
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